%ZTO Y Ui oy W §dm, aisplacement 3000t TPC = 12t , km = 4-5m, KG = 4.05m,
| MCTC = 8o mim, CF= 2m Qbaft of mud-Ship oL & dY@ft of £ 4m, A4S IS dry-
~ docked - Coltuate
(i) The. wesidual ¢M on taging bIoCKs a over
(1) Her drafts Faq

S0l | Drofe Fwd: 4.0m

Trim: 0-5
41% : 4-50’)} Trim m

LCF = _{/d/
2

‘ = 84
2
! -z 40m

fov sr‘ﬁv‘% overgMy Tnim = PX LLF

MCTCX )00
O-5= PX40
| &0 X 100
| P= 05Y80xi00
| %o
P= 1001

VirtuaL (od) of GM

FORMULA A FORMULA B
\ PXKn G
| W-P W(Inia)
= |00X4- 05 = 00X 45

3000-100 3000
; = 0 l40m c DISOm _, proceed With
% 3ypnzn; (0g¢
M= KM- K Hence, Residual GM =
| A5 4.0 IniHalk. Gm - vivtual (oss of 4

= 245 = 045 -0S

I

o]

EEREOIITISRRRARARRRAANBONNOANBABNOONQQRITOCCOOOE
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(i) Her draft £ XA
O Findb Initiaw H-$ dragt

Covvection 4o after draft = TRIM X L(F
LBF
= 05X 40
84
= 0:238m
Aft dvaft : 4 .soom
Covyn @ 0-238m
HS draft © 4-262m
@ Rigse = _e_
TPCKIDO |
= [00 !

e

(2X100
- D-083m

@ FinaL dvaft FAA = HS draft - Mse
= 4.262 -0:083

EXEER

-

SEP | A vessel Of L=150m gqrnves otrg do K dmw/‘nﬂ 5-0m forwards and *-0m aft x
2022 | Hov W= 12089t KG= F-Dm , Fsm= 800 tm, TpC = 2247, MCTC= 174, 1B = F2-362m,
LCF= F2-4%6m , KM= §8-438m , 4 Hhe é@uw—% of the do® 20cm pev toOM, find
he following when wager Lever dTops o S:5m obove the blowd at the after
- end & M |
| b) draft Forward, ans Aft |
Spi-| Draft Aft . F-0m |
WL | 55m

p—

Redustion inaft dragt: L-5m = 150
2
Reduction in oft droft= P , FPXLCE
TPC  MCTCK LBP
1so = P L PX F2-4F¢*
2241 | 14X 150
L350 =00445P+ 0:20126F
1SO = D 24576F
Po= 150/p.y59¢




Fox &Hﬂ?ﬁ ove ‘
™Mm= PXLCF
MCTC X100
Ths will chogge - <% = X F1-496
emeof dewnly T A 100
TLYF6P = 34800

. ., P = 0
Stepd: checre vessel s &v#mg OverauL or 4§§7‘u a%fo?t

P(reduction) » p(;:’#ﬁnj overai)
That means vegsel is Sitting overa
SP O Fint vowe of P

X ;
If Srtting  overau e Rise- p
i / StV get votue of P

ED Tofind Rise, Cou™ initiaL H-s draft

Covi"to qgtter draft= TRIMXLcF
LBp
= 2XF2-YH

= 0-966m
Aft dvaft : 7-000m
Covr" > 0- 966 m
InthalL H-S draft : 6034 m

@D Fnd rise

ok H-S dvaft © ¢.034m
(Fioat n-¢ dvafe | woder leve:  5-500 m

Rise : 0°534m = 53.4 o

2 Find ¢
Rise= P
=
534 = P
22:47
P= 534x22.47
P= 1999

Step(d) Find Virtuol 1088 ot Gm

A 8 A 8 A A A A &8 & & & & & = o - ~

—
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|

|
1
|

|

FORMULA A
PX Ka(soud)
W-P
199-9x F
[2019-1199-9

0.-F76m

of ke

)

W)

Step @) Find InHidL qm
KM@ 8438 m
Koo @ F-000m
aM (sobid) = 1.438 m

FORMULA 8

PX KM(FinaL)
W (Inifiou)

|2019
0 842m

\)

rsc : 006Fm (FSMhw = 30%20,9)

GM(Awd fé?lm
Step € Find, residuar Gim
InHoL GGM @ 4-3FAm
V- (o3l 0f GM : 0-8421m
Residuar ¢m @ 0-529m

b) To find draft ,forwam/ L aft

Since, velsel IS J‘rfﬁ% overa & woter twel is 5-5m above the blotks

PIOft FAA = 55my K

Howerer de 4 Wﬁ?/‘m@ 6 ST Fam

sy oo somjosn

Bt 2z 1Bom

Hotg, SRrbvdy w2 T+ B0 em

Nofe: This Sowion (s dofe onsidensg +here, 1§

we will solve aﬁou‘n With d‘euim‘gt

no deww’ﬁ

= 1199-9X 8438 -

- ﬁ"eg/;’fﬁf w

gma,‘t(’r Log¢

’“\
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U A vessel of d/Jp/aceme/ut 24000, LBP =180 , | Cf = g Pe- 70, MCTC = 200

2021
amves in 3-D with draft F =8 20m A =900m: @etewmﬂ@ e reliduol M

when water Level faus by 400m qﬂer the Stein Houches the block:

K= 7-90m, KM = §. 30m, FSM Inriar = 2000 Tm
For a,)t(oa}:

s N N

So1” Reducton in aft dragt = P , PXLCF?
TPC = MCTCX LGP
4o = P, PX 85%
20 200%180
40 = 005 + 0 201F
40 - 0-254°P

P - 1595561 v

For s:‘ﬁw‘% OVerlly Trim= pxX LCF
MCTCX 100

0D-8= Px4s
200 X100
§5¢P= 16000
P = 188235 1
Plaflodk ) < pP(Sitting overawy
Henwe, vesiel s sl afloak
S0, P= 159 556 43

Vivtuak Loy of &M =

AARARRNRAMANAMANAAMANAAARAAMNAARASAMNONONOOOOCQ Q<

FORMuULA A - FORMULA B o

(

PX KG (olid) PX KM (Finat) (-
W-P A W (IniiaL) <

(

= 153 556X 7:90 . 159 556X &30 a (:
24000 -159-556 24000 e
- 0-053m - D-055m «
Find- InAiaL Gm ::
KM §-30m (]
K& @ F-90 m (]
um).(soud) : 0-40 m ::
£S5 © 0 084m<P‘SM/ P 200%3340«4%} t

Gy (Fluid) : 0-3L6m (1 0flont) (



Juyy
2017,

APR.
2012,

JAN
2020

Cpl-

InfhaL M. 0-346m
V. o3 o M - D 0SS M
Residal M > 0264 M pye

= I above guestion, Find draft FiA

TC = PROLLF
MCTCX 100
Te= 159:55¢x 85
200 X (00
Tc = D 678m
Ta = Tc X LCF
LBP
Ta = 0.638x 2S
|80
T = D-320m R"SC: ﬁ
TPEXI100
Tf = Te-Ta - [59-55¢
Tf = 0:6%8-0-320 HRE 108,
! = 008m
lf = 0-358m
Dvaft Frc Aft
Intial 820 9-00

Rise (-) 008 (-) 008
/T osss o030

( stevn qlveady fouthed , now {wd

Final §-478m 8-600m droft with ’.:“(vi(?fuf)
A vessel of following parhicuars emers & Seawater digaste LBP: 140m,
Draft forwards 3-4m, Aft 5-8m,Ka:8:0m, KM 9-02m , displacement = 89301,
TPC:2)9t, |eF F2.2m 1ﬁrom AP, MCTIC 1625 4m - Findv +he virtual M and
Arafts FLA when level of water had foUer 0ne meter ofterthe dtem hay
token 4o the blotks - Given Km at s displacement = 3-18m
For aftoat, Redudion in aft draft = ¢ n PX LCFE
TPC  MCTCX LBP

joo = P, pPx 72
219 [62-5K140
(00 = ©:046P + p-2291°P

O-2FS5|P = )00
P . 363 - 504+




—

| For &H‘H% overan, Tvim= PX LCF
‘ MCTCX 100
SR PR T
162-S X100
72-20 = 39000
P= 540166 ts
P Laffoat ) 2 P(SH‘N'/% overauy
Henw, vessew 1 il aftoat
€0, P= 36350415
Virfual LOY of ¢m

a5 FORMmuLA B
w PX KM (FinaL)
et W( ruhaL)

) 3€3-§o@igﬂ = 3€63-904 X919
8930~ 343 S04 Ng 550,_
= 0 340m

Final ol 6m

KM: 918 m
K& @ €00 m
( GM @ 1-48m

R vesiduo m

Infiol oM 1.18m
V- (085 of am : -374m
Residual Gm ; 0-806m_

%.
= To find dvaft F kA
Te = PK LCF :
MCTCK 100
Te= 363-804X 722
(62-S X)00

Te = 1.61%Fm




» W wr W W >  wr ww = =

TOL" 'I'CX LCF
La¢
c |6lFX F2:2
14-0
~ 0:83. ' m

TF = T - Ta
= 1617 - 0834
= 0783 m

Rige = ﬁ

DO Fd At
MitiaL 34 58
Rise () O-16¢ () 016
1 tows  ossr

Final 4__0’71“ 4’»8000’]
= AN

SEPT | A vesieL Of L 1SOm avives diydlock AYawigg 5:0m forward, ¢d F-om aft- Her

202, -
oo WZ120194, K= F-om, FSM= 800-+m, TPC = 22:4?, MLTC= 177, LB= 72 962m

202y | LCF = #2:4F6m , KM= §:438M : If the dﬁ(lf\/fy of the Aok g0em per 100m,
Find. -the: fotlowing when water tevel dyops 10 5SM Gbove the blotkd akhe
after end- o v
| b) draft fwd k oft
So Drapt Aft: Fom

| Wader el 5 5m
Reduction inaft draft: 1-SmM = (S0 (m

For afloos,

Reduction in aft dragt= P o PX LCF2
TPC  MCTCXLBP

so = p +P7<72»4?62
224+ T 174x150

(50 = D-D445P + - 20126 F

ISO = D-245%P

P = "5-0/0‘295-'3‘6

p - 10357




For siﬁv‘/y overouw,
Trim = PX LCF
MCTCX 100

Notfe:- Jue 1o deafw‘y tim chomﬁe, and,

The dw:w? wrll be fmaL Fnm 1ohen vellel SHS overal

oL, m o 2:0m ﬁewng = 20¢ry 100
fina tnm - 0-3m for 150m (engtr = 30Cm = 0-3m
Te = 4-7m

//’f - - . ¢
T /’j ? - .P)( }Z L’%

gecinty - (T4 XI00
P = 408 435t
P(afloat) » P(sHting overaw
Hence vesseL is JHﬁan overolL
80, Find P’ by
Rise= P
TPC

inifloL H-S daft
AL S
Rise
For [nitiaL H-S draft,
o140 oft duft= timxcck
L8P
= 2XFLYF
(S0
= 0-96e6m
IvtigL At dragt: #-000M
Corr? . 0-966m
I+l HS draft: 6-03Fm
For AinaL S araft,

@mft(aff} 5.5m
j)m#(fwd) s R '52m | Ang
Corvection 10 aft daft - ﬁ%}%ﬂf.
= 03XTF2Y%
|50
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finaL aft draft: 5:5907
CoYY) L HOI4S™

FinaL H-Sdraft: 5-356m

InioL H-S dvaft: 6 034m
FinaL S oraft: 5:355m

Rise = 0679

Rise = P
TPCX 100
06t9= P
9247X)00
P- 1526 H3Its
\iTtuaL Loss of (1M
FORMULA @
PXKG(sold)
W-P
1525 HAXF
12019 -1525 H3
= 1-018m
KM &-438m

ey . 70007
(M (Solid) © 1-438m

.

FORMULA (B)
PX KM(FinaL)

w
(525 H3 X 8438
12009

= F0FAm

FSC N0t m (FSM/M\'P = 800/:20;9—:525-7:3)

GM (F) 2 1-362m

(Nl GiM: 1-362m
VirtuaL Loy of M- 1.0F m

Repiduol, (M 0291 m
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TN

som:-

A Ship of 200m, beam 3)m), araft Fud ¢ osm Att 6 ?Sm I& 7’0 be dr
| Aotkegt, CF =3m aft of midship , MCTC = =400 1M, KM = 8-45m , K= F-8m, TPC= 29+
- Colauate her resiaual gm  gnd dmftfwot L afe when mn Aoy Teduced 10 40¢m.

Dyoft Fwd @ 605m
Droft 4ft : 6-F5m
Tom - o-78m

COMRMHIon 40 oft dvaft = Tm x LCF

L3r

070X 97
900

= D-340m

Aft draft @ 6 FSm
Corr" (] 0:340m

H-s drafe @ 6 HOm

Displacement = LXBX D X density

19

200X 32X 6+ 40 X 1-025

)

42049-6 ¢

INHIOL 10m = . F0m
FinaLtrm = 0. 10m

For  ntermeqate,

Vistual 0ss of GM
Formuwia. 4
PX Ka (S0Ud)
W -°P
_ 24F-423KF§

= D O4pm

 42049-6 -297.923

Ta = 0-60m
T, = PALCF
MCTCX (00
060 - PXIF
400X 100
Pz 297 223
Formwa 8
PX KM Fing,) *
W (Initial
= 24Y% 423K 845
420496

= D-050m



KM : 8450 m
Ke : 1-800 m
GM (sotd). 0650 M

IniHAL 6m : 0-650M INHIAL (M ° 0+ 650m
VivtualL (oss of GM: w | VirtuaL [osof Gm: O-050m
Residuat ¢m : O0°BOFM Residual &M - 0°600m

T™Mim cawed, Te = 0-60m
Tas TeXLF . 0:60X9% _ pp94m
LBP AL
Tf = Te-Ta = 0.40-0294
= 0'509"1

RisSe= P
TPC

= 247923

29 X100

Z 0-085m

Dvaft Fuwd Aft
InrHaL 6050 ¢ 750
Rice (0085 (0085
/T~ (0309 ()02
Finok 6 2Hm  6374m
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JAN

Sol":

A vestel of L= IS0, CF= 2m fuid. of nudship, W = 8000, KN = 3-5m,

Ka=6-8m,TPC = 20t mCTC = j60mt of @ draft of 5 207 fwd ard §-89m

aft, is froating in a dty dock, wohere the wadter Cevel 1S F4m ppove +he

top of he blocks - Caltwlare hev vIvIUAL bM ande dYaft Fod ara Aft when
fhe wazer (eyet i fowered. by L4

Intioy, we @ F4m
Woue/red%v : {fﬂ
FinaL mwe - €0mM
At droft - 6897
Reducton o aftdraft - 0 89Im = 83 cm
Fov afloat,

Reduction in aft drape= P, PXLLF®
TP~ MCTCX L8P

”L
§9 = P o PX 77

20 [60X150
89 = D'OSP + 0-243P
89= 0'297°F

P - 299624+ —
bor SH'/I'/)J ovevolly

TRIv) = PX LCF
MCLTCX 100
(6OX100

P = 350169

P(atoat) < P(&Hﬁ'r)j overaLy
Hence, veisew /s 4l Gffoat
Henw, p= 299 611

2 a aaaasasnanconannsasesmemseme e e e~ OO T TTT TN ATAN

Virtuad (059 of M

FORMULA A FORMuLA 8
PX KQ(JOU(U PX KM(F//?H.#)
N e

W-P W(Initial)

oS S
L e



8000-299-42
= 0265m
KM -
Ké
Gm

InitiaL Gm 0-FOm
ViTtual [0 0f GM: p. 965 m

Residuar om 0-Y3sm,

= 299:62X 35

8000

z 0 281m
1-5m
68 m
O« Fm

Initio am: p.700m
Virtual toy ofGm: 0-281m
R&umu,aM:0¢H9@

Ri&es_ﬁ
- TPC
20X100
= 0'150m
Te = PXLCE
MCTCX (00
60X 100
= 1-44m
Taz TeXUF | 442X 37
L3r 1SO
- 0 740m
-T,it = TC'TQ_
= 1Yy -0 140
Z 0FH02Im

Fuid Att
5200 6890

Rise () o5
TH/Tee ¢+ 0702

— e

(2 0150
() 0740

Finaw 5.752m 6'000m




JUOLZ A velsel o(:'sprac:‘/g 14000 tonnea entert ‘”ﬁ -dock, wrth o clearance of o'som
OVRY Hhe blocks- Draft while. entering drgy dock, qrt 5-3smforwardy ¢-#mart
MCTC 120, 7PC 22 fome , LCF 4.00m aft of mudship, mﬁm IS0m, K¢ 6-25M,
KM 6-40m- Assuwme the hydiostedic data 4o yemain constont - Petermine

& The dsop in water Level Yequired. before e vester tares +e bock forward
and. aft

bl The am ot the ingtane of {aKig e blocks

¢) “The {uﬁher dyop in water before the M reduces to zevo.

ANS= ) por 8)1‘)1/8 over ouly

T = PXLCF
McTcX/oo

1-472- PXH
120 X100
P = 240tm

Rise= P
TPCXI00

=240 - 0.109m
22X100
Rise - ©.09m
Cleovance « 0-S00m™

——

mooaooanﬁﬁoﬁQ%ﬂ@ﬁ%i?ﬁﬁ%ﬁﬂ

:D’JDPW nL Teq/wftd,: 0609 m
fox s#hy overaiL =

b) Virtual (oss of &M

FORMULA A FORMULA 8
PX KG(solg) PX KM (Final)
. 240X 6:25 o W
|4-000 - 240 14000
. 0109 = @ 0m 1
KM 6:40m
Kr: 625 m
GM oS M

R B\ \F\ B \B\ T\ B\ \W\E\R\E\R\S(S. 5N 885
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- W W W W W W W W
v
v o v
-

IniflaL am: 0150m
IniHolL ¢ .
V(038 of Gr: 01097 v 5
Residual, gm - O 0FIm | oSt of Gm
o Residuol Gm

For M o be &0
ViFuol (os of am will b€ Some as IniflaL gm

vivtualL (oS of OM = 0+150m

FORMULA A FORMULA B
V- L3S OF 4m = PX K& (solid)
W-P
0:1S = PX €25 O
4000 -P bl
2100 -0 ISP = 6-25F
00 =
640 = 2100 r
Pz 23281154 -
Rise= p
TPCX)00
- 378125
Sco e
22X 100
- 0 149m
Rise @ 0149

cleavane @ 050

Drop in WL vequived, |
for oMo be %efo e 649m

0:(S0mM
0-1{0OM

0049
f/i/)_s

V- [0 of LM = PXKM(LlA)

v
PE &8
4000
6-40pr
228 125K

\‘




r

Jzovs A vesseL of w;gm 140 mis COF = .S mtr fwd_ of d4hp, MCTC =1504m, TP = 19,

KM= F6m, Kb= 6:8m/ W= 1[109T ot a_draft F= 3-30m, A=56Im (5 fotn
n a dYﬁdOCK/ WOheYe depth of ot it ¢ 6m  arove +he +0p of +he blockd:
Calcwlage vesjel vesidual GM and drafts FAA

When &) vessel ic ot Oical instant
b) water tevel 15 lowerea by 16m.

S0t 0y por &Hﬁ/g OVeYauL,
TNM= px LLF
i ke
M (TCX100

Droft Fwd.: 3. 70m
Dot mtt LML

Tyim ; 1-99m
LCF = _’_('L_O__.r- 2.6 = 7250’7
2
1099 = PX F2-5
[SO X (00
P> 41724 tm
Vivtual (034 0f OM
Formula_ A FOYmua_ 8
P kel Sotiot) PX KM(Final)
w-°¢ W(InfiaL)
Y X 6
s s 40724 74
i 7 1100
= 028 = 0282m
KM F-600m
Ko : 68007
Gm @ 0:800m
INHaL aM: p-goom INFHOL UM 0 - §09mM
Vilol of M @ 0 262m V- logs of M- 0:282m
Residual, ™ . 0°638m KeSiduat GM: 0518 m
Risez P
TPCK100

A YT

10 v AN

L R o o B L R o & o T o T o T o e



Te= PXLE - 4NFHRTES - ) g90m

M CTTKI00 jso X100

Ta: TXUF - 990k 925 . 103in

| Lar " .

T Te-Ta = 1990-1 03

i = 0:959m

| Draft P Aft

InrhlaL 3-H0o 5690
Kise (4027 ) 027
T/ Te () 0959 (-) 103
FinaL 4. 442m 4. 442m

®) oL WL g-gm

WL lowered by = 4 -6m

Present WL @ 50m

Diggr Aft = 569~
Recduconm aft dragt= 0°69m = €9¢m

S

(oY aHoot

Reduction in aft draft= P , PKLCE’
TPC MCTCX LBP

69 = ¢, PXFALS

19 190X 149
69 - 0053P + 0-250P
69 = 0.303p

P o 21t 3k
for gi{ﬂ'/\ﬂ overauw
Trim= PX LCF
MCTCK (00
85 = hFLE
T
P = 41324 Am

p(aflont) < P(s'rfﬂ'fg overal)
Hence , vesseL is Sill affort

hoarn. - Y9 F. LI+t




virtual loss of GM

Formwg A

PX Ko (solid)
W -P
227 -3{2} x 6.8
([[00 —227-423

= 0'[421m

INH'OL Gm: 0-§00m

G-t of G 0142

Foyrmuwia 8
P X KM (Finat)
W(Iniak)
= 22?-?22&1&
11100

= 0'156m

INfrod com : 0-890m
Voo of Gm 2 0.156m

Residuol ¢ 0-6S8m Residuat qm : D644m

Rise= P
TPCX100
5 22%-725
[9 K100
= 0120m
Te= PXLCF o 22273X72S . 00m
MCTCX100 [SO X (o0
Taz TexWF  _ pox32s _ 0-5%70m
Lar (40
Tt = Te-Ta = 1100 -0-570
= 0:-5%20m
Droft Fd Aft
i oL 3-700 5690
Rise () 020 ()ol20

THT (o530 (9 05%

FinaL 4.110m 5:000m
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2014

b Arce
2017

A Shipof Length 130m , Qisplacement = s200t , CF = 2m Qft of Middip, meTC= 140,
KM = 65m , Kl = 60m TPC= 20t, JYaft Fwd = 4.35m, Aft= S 4Hm IS dry— A0CKed -

Y COLCULAIE her vesidual ciM and +he Avaft FA A
(i) When 4he Him has yeduced +o 35 ems

y 02

InrtiaL m= | 060m
Finol_tMm = 0°350m

T = 0-FHOM
For :‘/Hefwza(fafe,
To = PXLCF
MCTCX (00
O0-Ho= Px 63
(40X)00
P= (5F FTH ¢
VivtuaL (o of am
FORMOLA A
PX K& (Solid)
w-pP
= [57-778XK ¢
5200 -157-1#8
= 0-188m
) KM: g:Sm
o Kty @ 69m
M . 0°sm

{n{‘_haL IV E 0-§00m
V. (055 Of OM : 0188 m

(1) When +he  wader el how bebn lowereds 4-2m after she has 1y +he bl
QUL duver

FORMULA &
P X KM (Figal)
W (Infiad)
=~ 151 FHXE-5
5200
= 019%m

N gm . 0-s00m
VoS 07[ oM - 0‘197”1—’_

—

Residumat em - 0312 m RepiduaL ¢am: 0'303m
Ta= Te XUF _ 0. FHOXE3 0-344m
LBP (30
T{ = Te-Ta =z 0-HO - 0344
= 0-3£6m
Rise= £ - 157978 _ 5o99m

N




Draft Fuwd Aft
InHioL 4350 S 4o
Rse  (¢)o.079 (0079
T (poac &) 0344

P

Finak 4.63Fm 4. 98%m
(i) for Sitting overauy
™M= PX LLF
MCTCX )00
tis = FE.BR
[4oxj00
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A vesser of displacement 4340t, mean draft 42om , tength 120m, km 6m,
203 Kb 5-5m, CF amidsip, TPC Lot , MCTC FI1M , js 4o pe gy —docked, - tf the (M
- on taring the blotk FAA is+o be N0t €18 han 0-3m, what Is Fhe maximum
- peanissible Arim lg the Stern 7 At what et F A4 A vesseL would beome
| unstable !
SOV‘:’E @ - KM : g.0m
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Residual am; O-0m
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g | Displatement = 28200, LBP= 474m, kM = 44-43m, K67 = 10-9m, DF = F.gom),
WL DA = 9:30m, LCF = §8-Smfwd of AP, MCTC = 400-54m  TPC = 9g.4 t/cm.

The depth of water in tht detk i§ inHv'a%v A0m -+ Find. the effecve Gm of +he
VesseL after he water vel hoy fouen by 4-2m in dock -+ AlSo find. e draft

FL A after the fur of wWater [evel -
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Final depth: 8-4m
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Forafteat,
Reduction in aft draft= P . PKLLFE
TPC M CTC K LBP

5 = P + PX 885*
28 400-5X | 4
50= 0-036f+ 0:])2P
50 = D|43P
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For sH’n’rg over Ay

| Tiim = PX LLF
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A vessel ontes o SK dry dock o(mwi%q 4.4m forwardl and 5-8m aft, Ka=36,
FSM= gootm, AF = F2-056m, L=140m, IN > §486.-8t, MCTC= [60-952 tm,
TPC = 2132, km = 9. 5F0m . ASSUW +he hydiostatic pariewsar Yemasad
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LUEL £ 0 4-9m  @boUe +he. bIOCKs - '

{

WOFer UL dlropped to: 4. §m
dragt oft 58
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o1z | ¢X 32 056
|4-0
= 0-F24m
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Rise = 0:-2F9Im
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MARK A vesseL of lpgth 144 meties, COF = 2 6 metres 4oy ward of maship , McTe = (9747,
WH qpe=19t, KM= T, Kz 69, W - )1300T, ot draft F= 3-80m, A = 5-64m
IS 1L(oa)'ffg in a dyy dotws where. depth of water i 6-sm  apove the-fop ofthe
- blocks - Catcutote vessel's yosidual &M Md draft FAA when
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b) veseL is wstasle
SOP:'% @ INH1 oL nie 1 gsm
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Find IntiaL HY draft
G 4o aft draft= TImX L
L8P
= 138X 7%
14
= 0-975m

Dradt Aft - 5-480om
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U;;L\/ M Hindship erfers o Sw augdocr» with draft fwd = 3-88m and. drage dpe - 5:30m,

The. water tevet inthe dots ic 6m above +he blocks - I the water evel inhe
- do is reduced, by 4:5m - Fint

- @ virtual Gm b) dvaft Rl and afe

IniaL Wt : g-om
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So1"- ‘,

Preset L : 4Som
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Fov +that we Yequive H-s draft
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LCF at mean dYgft 4-59m = 73.04%m
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P=2919H 1=

WP
385%-5¢- 291 9H
8565589

B

(R

Find. HS araft, MCTC, LCF & KM at 8565589
8473 4 4 162-9- F3-060 9-3284¢
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Fnitial tim - 1.420m
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Ta= TRAKLLE
LGP
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APRIL | My Hmaul/up d,‘gp(aceméﬂf “1292? t, K 61 7 850m FSM 1290+m IS +nmmea(/

013
o 070y he stem - She has Fo be dliy - docked - Caltutate
2025 () Vivtual M of the vesser when her Keel 1OKes +he blotk Weng the legﬁ
0f the veser
(i) Droft F and. A when She gits overal on he blocks -
Sol- Trim= 0.70m
Fo? 3;‘177'!% oveY au,
Trim= PXLCLF
M CTCX (00
Findb, MCTC & LLF ot 12927 ¢
MCTC= |F7-5
LCF= F2-176
0-F0 = pPXF2:17¢
FRA2TTZ
[FF-5X 100
p:= 13258
W-P
- 1292%- 1F2:15
- 127FS5Y-8s5ts

Find. H-S draft, WM ot 127SY 85+
124792 620 g8

12927 640 8-340

s arate= T be. i drat e

kw = 8§ 35Fm
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Formuta A Formue 8
PR (solid PK K (Finay
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OCT | MV HINDSHIP gisplacing 500t and trimmeds 0-89m by 70 is 0 be dly docked
”15 fof bottom /nspeMOﬂ Kir=F92m, FSM = 16001t - copaudate:
zozq Q) The (M (F) of +he vesseL before entenqg the dig-dok
ww b) The vivtuaL 6™ of 4he vesteL when her heel takes bloks auk along he legg Hh

iz D the veseL
O F&A it at whicn he VIFTUBL 0M of e veuer bewmes 0

cA-| \ ;
S0V- Tam= 0-§0m bﬁ Stedn
| Findk  MCTC, LCF,KiviatcUsp- 9500t
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Nstoat 1s not 40 be (e1s thon 0-sM.
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| J
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4
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9905 - -415P = 8-2F p = 962359t
9905 = 9-¢lsP
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APR| M Hindship, displacement 9348t , K& 8 623m, FSm 935+m is o be dyy- docked:
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